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1. 	��.�
+����!+#9+,���$�����	��&�$.��O#(�) ������(��$  ��P�	����(��$ (��,*��

,���Q�
"�# AOAC, 1990)

1.1 	��.�
+����!+.�*����

1. 
6�"*$���#�"���)��'�!G��),� 100 �#%��>	�>
�� ���
�*	� 40 
��
 �	��6������F

�
�8$)$-*�,���


2. ���#�	�'�
�E�
�6��
��"�#"*$���#�$�	���
�$
3. ���#��*��+�#��+"*$���#���,�G 3 ���, �	�'�
�E�
�6��
��
4. 
6���*��+�#�"���)��' �$�����!G��),� 100 �#%��>	�>
�� ���
�*	� 8 ���*�,#
5. 
6���*��+�#�
��'�	�*��+�8$)$-*�,���
���#&*������F
 �	�*'�
�E�
�6��
��"�#��*

��+�#
6. �6�>�6���,"�� 4 8E# 5  
������#
�6��
���
�&$�-#�
� �$�
�6��
���
����&� -��
�6�

�
��"�#-*�,���

-6�
*G��-*�,���
$�*��,���

-*�,���
 (%)  =           (a 5 b)  ×  100
              w


*��� a   = 
�6��
��"�#��*��+�#�+�
�'���#
b   = 
�6��
��"�#��*��+�#�	�#�'���#

             w   = 
�6��
��"�#��*��+�#�+�
�'

1.2 	��.�
+����!���*�9
O��

1. ���#
�6��
����*��+�# 2 ���, ��+�
8�*�����'���#�-	��'
2. 
6�&��_��
����_��
��!G��),� 600 �#%��>	�>
�� ���
�*	� 3 ���*�,#  
�8�����


�
"�*



3. 
6�8�*�����'���#�-	��'�"���8$)$-*�,���
 �	��,�����*��+�#��F
$
�	�* 
6�������#
��
�
 $�*��-����#���# 4 �6���
+#
-6�
*G���8��$�*��,���

                      �8�� (%)   =     (b 5 a) × 100
                                       w

�,��� a   =   
�6��
��"�#8�*�����'���#�-	��'
b  =   
�6��
��"�#8�*�����'���#�-	��'��'
�6��
��"�#��*��+�#�	�#����_�

             w  =   
�6��
��"�#��*��+�#�+�
�_�

1.3 	��.�
+����!������
�

���
+*


1. ��$>�	})��� (sulfuric acid, H2SO4) �"�,"�
 93 5 98 ������>F
��
2. �����+#�*, (catalyst mixture): ���
�,�$� ���#-�������>�	�}� (copper sulfate,

CuSO4) 7 ���, �	�������>
�,>�	�}� (potassium sulfate, K2SO4) 100 ���, _�,����"����

3. �>�$
�,&W$���&>$� 45 ������>F
�� (sodium hydroxide, NaOH): ���
�,�$����#

�>�$
�,&W$���&>$� �
�$��	F$ 450 ���, 	�	���

�6��	��
 ���'���,������&$� 1 	���
4. ���	�	����$��	�� (hydrochloric acid, HCl) 0.1 
���,�	: ���
�,�$�	�	��

��$��	�� 9 ,�		�	��� 	#�

�6��	��
 ���'���,������&$� 1 	���
5. ��$'���- (boric acid, H3BO3) 4 ������>F
��: ���
�,�$� ��,
�6��	��
 50

,�		�	��� ������
�	�*��+��$'���-	#&� 4 ���, -
 
	�	���,$ �,������	�	����F
	#�	�* E#���,

�6��	��
���'���,������&$� 100 ,�		�	���

6. ��
$��-������*, ( mixed indicator): ���
�,�$�	�	���,���	��$ (methyl red) 0.2
���, �
��	��W�	� 95 ������>F
�����'���,������&$� 100 ,�		�	��� �	�	�	���,���	

'	)
(methylene blue) 0.2 ���, �
��	��W�	� 95 ������>F
�� ���'���,������&$� 100 ,�		�	���  ��
��


6����	�	���,���	��$ 2 �+*
 _�,��'���	�	���,���	

'	) 1 �+*
 �"�+�����"����


7. �,��	����
 � ��
$��-����� (methyl orange indicator): ���
�,�$�	�	���,��	-
����
 � 0.1 ���, �

�6��	��
 ���'���,������&$� 100 ,�		�	���



8. ���	�	���>�$
�,-���'��
� (sodium carbonate, Na2CO3) 0.1 
���,�	:
���
�,�$� �'�>�$
�,-���'��
��
��!G��),� 260 - 270 �#%��>	�>
�� ���
�*	� 30 
��
 ���#����
��'
�	�* 1.325 ���, ���,
�6��	��
 ���'���,������&$� 250 ,�		�	���

            	����+.�*
&�*&��&�$��������	�(
	���*���4��

$)$���	�	���>�$
�,-���'��
� 40 ,�		�	��� ��+�
"*$�)��,�)+ "
�$ 250
,�		�	��� ���,
�6��	��
 20 ,�		�	��� ���,�,��	����
 � ��
$��-����� 2 5 3 ��$ �6����&�����$�*����
	�	����$��	�� 0.1 
���,�	 -6�
*G-*�,�"�,"�
"�#���	�	����$��	���$�����)��

N1V1  =   N2V2

      �,���   N1    =   -*�,�"�,"�
"�#���	�	���
� ����'-+�
N2   =   -*�,�"�,"�
"�#���	�	���
����#���
V1   =   ���,���"�#���	�	���
� ����'-+�
V2  =   ���,���"�#���	�	���
����#���

.��
	��

�. "��
��
����+�� (digestion)

1. ���#��*��+�#��������&$�
�6��
�����,�G 0.5 ���, �$����#$�*����$�R���#�
�
���% �����&
���� 
�	�*��+�
�	�$���**��-���������



2. ���,�����+#�*, 3  ���, ��������
��*�+*���+#�������������+��
3. ���,��$>�	})����"�,"�
 15 ,�		�	���
4. 
6�&��+��$�*��!$�-����#�+������

 �
��!G��),� 375 �#%��>	�>
��  ������#���

	�	���
�	�$���**��-���������

���
�
�"
�*�� ���#&*������F


". "��
��
����	��
 (distillation)

 1. �,������	�	����F
	#  ���,
�6��	��
���,��� 20  ,�		�	���
2. ��+	)����* 2 	)� ������|�#��
���������"�#���	�	���+��	�$���*

*��-���������

�"����'�-����#�	��
�
�,
"*$����-'*�$���,��� >E�#,
��$'���- 40 ,�		�	�����)+ �$�



����	��"�#�	�$���*�
��+� �����'�����*-*'�
+
 !+,��)+�
��$'���- ���,�>�$
�,&W$���
&>$�	#�
�	�$���**��-��������V  
������#���	�	��,
�
$6�

3. ��$��
$��-������*,�
��$'���- 2 5 3 ��$
      4. �6�����	��
 
������#&,+,
������,�,�

����,� �6�����	��
�+�&��
� 10 
��


�	�*	��#�	���-����#�	��
$�*�
�6��	��
 
6�"*$����-'*�$���,������ ���-����#�	��


-. "��
��
���&����� (titration)

1. &�����$�*���$��	��,���Q�
�
����'-*�,�"�,"�
 (0.1 
���,�	)  
8E# !$�!��
(end point) ���	�	�� ���	
��
���
�

�6��#�
�+�


2. '�
�E����,���"�#��$��	�� ��������-6�
*G�+�&�

���-6�
*G������

$�*��,���

     ����

  (%)      =     1.4 × (V1-V2) × N × 6.25
                                  W

�,��� V1 = ���,���"�#��$,���Q�
�
����&�������*��+�#
V2 = ���,���"�#��$,���Q�
�
����&�������*��+�#�
������* ��'
N  = ���
-*�,�"�,"�
"�#��$��	�����

���,�	
W = 
�6��
����*��+�#

1.4  	��.�
+����!'&*�� (���
+����$ Soxtec System HT6)

 ���
+*


&��-	�������
	



.��
	��

1. �'8�*�����,	)����* �
��!G��),� 100 �#%��>	�>
�� 8 ���*�,# ���#&*������F
�
�8
$)$-*�,���


2. �'��*��+�#�
� �*��-������
��!G��),� 65 �#%��>	�>
�� ���
�*	� 1 -�
 ���#�����F

�
�8$)$-*�,���




3. ���#
�6��
��8�*�����,	)����* (w1)
4. ���#��*��+�#�
����#���*��-����� ��+���$�R���#�'��� 1 ���,�G 1 5 2 ���, (w2)

�+����,�$��$ ��+	#�
&�����# (thimble) �
����
�,&*� 
6�&���+�"���-����#
5. 
6�8�*�����,	)����*�
����#
�6��
��&*��	�*,����, &��-	�������
	

 ���,��� 25

,�		�	��� �	�*��+�"���-����#
6. ���$�-����# ���'�!G��),�&��
� 180 �#%��>	�>
�� ���$�-����#�6�-*�,��F
 ���$

*�	�* �	���
�!q,&��
� boiling ��,����$��$ 30 
��

7.  ��
��
�	���
�!q,&��
� rinsing �����	��#��*��+�# 20 
��

8. ��$*�	�* ���$�*��>�����% �	���
�!q,&��
� evaporation ���������������� 5 
��

9. ��$�*��>�����% �	��-����#�6�-*�,��F
 �	���
�!q, evaporation �	�'�6���
+#�$�,


6�8�*���� ���-����# �'�
� 135 �#%��>	�>
�� ���
�*	� 2 ���*�,#
10. 
6�8�*����,���+�8�'���# ���#&*������F
 �	�*
6�,����#
�6��
�� (w3)

+5��.9��'&*��(�.��*	��

&",�
 (%)      =       w3 5 w1 × 100
                      w2

�,���        w1  = 
�6��
��8�*�����,	)����*
                         w2  = 
�6��
����*��+�#
                           w3  = 
�6��
��8�*�����,	)����*�	�&",�
�	�#�'

1.5 	��.�
+����!
������ (���
+����$ Fibertec system)

���
+*


1. ��$>�	})��� 0.128 M: ���
�,�$�� �� �#��$>�	})����"�,"�
 7 ,�		�	��� �

�6�
���% �� ����
 ���'���,������
 1 	���

2. ������>
�,&W$���&>$�  0.223 M: ���
�,�$����#������>
�,&W$���&>$�
12.5125 ���, 	�	���

�6����% ������
 ���'���,������
 1 	���

3. �����
�	 (1-Octanol reinst)
4. ��>���
 (actone)



.��
	��

1. 
6�8�*�����'���#�-	��' &��'�
��!G��),� 135 �#%��>	�>
�� ���
�*	� 2 ���*�,#
(8��8�*�����'���#�-	��'�����,�����
6�&��_��
��!G��),� 500 �#%��>	�>
�� ���,�G 3 ���*�,#)

2. ���#
�6��
��8�*�����'���#�-	��' (W1) ���#
�6��
����*��+�#���,�G 1-2 ���, (W2)
��+�
8�*�����'���#�-	��' 
6�&���+�"���-����# Fibertec  system

3. ���,��$>�	})��� ���,��� 150 ,�		�	��� ��$�����
�	 2-3 ��$ ������|�#��

&,+������$}�#"G��$��$

4. ���$�-����# �	�
�6��"���-����# ���$-*�,���
 
�!$���	 �	��	���
*�	�*�!���*���
��)+�
�6���
+#��$ ��,������	�	���$��$��F,�
� �	�*	$-*�,���
	#��	�����,�G 4.5 ��,
�

���,�G 30 
��
  ��
��
��$�-����#�	�*���#���	�	������$��	���
�!q,&��
� Vaccunm

5. 	��#��*��+�#$�*�
�6��!+
 3 -���# �$����,
�6��!+
	#&��	�*�	���
�!q,&��
� Vaccunm
��������#
�6����

6. ���,������>
�,&W$���&>$����,�G 150 ,�		�	��� �6���+
�$
�*��'"�� 6.2.4-
6.2.5

7. ����8�*�����'���#�-	��'&��
� cold extraction unit 	��#��*��+�#$�*���>���
���
�+*,��*��+�#���#&*����-�)+ �	�* E#���#��>���
���

8. 
6�8�*�����'���#�-	��' &��'�
��!G��),� 135 �#%��>	�>
�� 
�
-�E�#���*�,#
9. 
6�8�*�����'���#�-	��' &�*�#&*������F
�
�8�'���#  E#���#
�6��
�� (W3) �	�*


6�&��_��
��!G��),� 500 �#%��>	�>
�� ���
�*	� 3 ���#�,#
10. 
6�8�*�����'���#�-	��' &�*�#&*������F
�
�8�'���#  E#���#
�6��
�� (W4)

���-6�
*G���������$�*��,���

 ������� (%)    =     (W3 5 W4 ) × 100
                   W2

                      �,���      W2  = 
�6��
��"�#��*��+�#
                                 W3  = 
�6��
��8�*�����'���#�-	��' ����,��*��+�#�	�#����'
                                 W4  = 
�6��
��8�*�����'���#�-	��' ����,��*��+�#�	�#����_�



��+L�.	 &

.��
	��.�
+����!�$+!���	�)
���( ��+����
���(!

1. 	��.�
+����!�$+!���	�)
���(

     1.1 	����+,�:
*���+��� (% haematocrit) (��,*��
"�# Blaxhall �	� Daisley,
1973)

1. 
6��	��$�
�� ��&$���,+V ��+�
�	�$�	F�V �6����'��-+�W
,���-���
(microhaematocrit capillary tube) ���,�G-�E�#�	�$ �!$�	��$��
�
E�#"�#�	�$$�*�$�

�6�,�


2. �� 
$�*�W
,���-����>
���}�* � (haematocrit centrifuge) �
���#��*
��# 10,000 5
15,000 ��'�+�
��
 
�
���,�G 5 5 10 
��


3. *�$��������+*
"�#���,����,F$�	��$��'���,����	��$���#�,$ 
6�,�-6�
*G��
-+� ������>
��W
,���-���  ���)��

% W
,���-��� =  ���,���"�#�,F$�	��$��$�
+
 (,�		��,��) X 100
 ���,����	��$���#�,$ (,�		��,��)

     1.2 	����+,�:
�*�	�)���.* (total haemoglobin) (��,*��
"�# Larsen and
Sneizsko, 1961)

���
+*


                        ���	�	���$�'���
 (Drabkin�s solution): ���
�,�$�	�	���>�$
�,&'-���'��
�

(sodium bicarbonate, NaHCO3) 1 ���, ������>
�,&>��&
$� (potassium cyanide, KCN) 0.05
���, �	�������>
�,�}������&>��&
$� (potassium ferricyanide, K3Fe(CN)6) 0.20 ���, �

�6��	��

�
��	��
 2 -���#  
&$����,���-�' 1,000 	��� ��F'���	�	���
�&$�&*��
"*$�E'��# ,
���!���#�
 6
�$��
�
��!G��),����#



          .��
	��

1. ���&,�-������"
�$ 20 &,�-�	���$)$�	��$�
�� ��&$���,+V ,�_�,�*,��'
���	�	���$�'���
 5 ,�		�	��� �"�+�����"����
$
�	�*���#&*���+�#
��� 20 
��


2. 
6��+*
��,�*�$-+����$)$�	�
��#�
�-*�,��*-	��
 540 
��
�,��
3. -+��
�&$�
6�,����
�'��
�'��'-+�W
�,��	'�
,���Q�
�
����'-*�,�"�,"�
 �$�

������	�	���$�'���
���
�'	#-� (blank)
4. ���
�,W
�,��	'�
,���Q�
 (standard haemoglobin) �
�,
-*�,�"�,"�
 0, 4.5, 9

�	� 18 ���,�+��$>�	��� (g/dl) 
6�,�*�$-+����$)$�	�
��#�
�-*�,��*-	��
 450 
��
�,��
5. 
6�-+�-*�,�"�,"�
"�#W
�,��	'�
,���Q�
 �	�-+����$)$�	�
��# (OD) �
�&$�

,��"
�
���},���Q�
 �$����-+�-*�,�"�,"�
��)+�
��
 X �	�-+����$)$�	�
��#��)+��
 Y �	�*
���,�������,��
�����#���
��# (linear regression) ��������-6�
*G-+�-*�,�"�,"�
"�#W
�,��	'�

�
�	��$  ��-+����$)$�	�
��#

1.3 	����+,�����
��.*��P
��*��������*� (total serum or plasma protein)

(��,*��
"�# Lowry �	�-G�, 1951)

          ���
+*


  1. ���	�	����	-�&	$�-������� (alkaline copper solution): ���
�,�$���� 1
������>F
�� �>�$
�,-���'��
� (Na2CO3) �
 0.5 M NaOH 50 �+*
 _�,��' 1 % �>�$
�,�������
(sodium tartate,0 C4H4Na2O6) 1 �+*
 �	� 0.5 % -�������>�	�}� (CuSO4.. 5H2O) �
� 1 �+*
 ��F'
���	�	��_�,&*��
"*$�E'��# 8��,
����
���$"E�
������
�,��,+

2. ���	�	���}	�
 (folin reagent) 1:10 ���
�,�$�_�, folin ciocalteu reagent 1
�+*
��'
�6��	��
�
��	��
 2 -���# 10 �+*
 ��F'&*��
"*$�E'��#

          .��
	��

             1. $)$>
��,,� 5 &,�-�	��� _�,�*,��'
�6��	��
 995 &,�-�	���
             2. ���,���	�	����	-�&	$�-�������  2 ,�		�	��� �"�+������+���
�	�*���#&*� 10 
��


3. ���,���	�	���}	�
 1:10 	#&� 3 ,�		�	��� �"�+�����"����
 ��#����
"�#���
	�	���
���	
��
��	#



4. �,���-�' 5 
��
�	�*
6�&�*�$-+����$)$�	�
��#�
�-*�,��*-	��
 640 
��
�,��
-+����$)$�	�
��#"�#��*��+�#�	��$�	��
�&$�
6�,����
�'��
�'��'-+���	'),�
,���Q�
�
����'
-*�,�"�,"�
�$�����'	#-� (blank) �
����
�,"E�
��,"��
��


���+&,+���,>
��,

            	��
��
�*	��^*���4��(standard curve) &�$P
��*����
�

  1. $)$���	�	��,���Q�
��	'),�	 (standard albumin) -*�,�"�,"�
 500
&,�-����,�+�,�		�	��� ��+�	�$�$	�#�	�$	� 0.1, 0.3, 0.5, 0.7, 0.9 �	� 1.0 ,�		�	��� ��,
	6�$�'

2. ���,
�6��	��
	#&��	�$	� 0.9, 0.7, 0.5, 0.3, 0.1 �	� 0 ,�		�	��� ��,	6�$�'  �&$�
-*�,�"�,"�
"�#��	'),�
�
��+	��	�$��+���' 50, 150, 250, 350, 450 �	� 500 &,�-����, ��,
	6�$�'

3. 
6���+	��	�$,��6���,"��
��
"�#�����>
��,����

�
�	��$$�#�
�&$��	+�*�	�*
"��#��


4. 
6�-+�-*�,�"�,"�
"�#��	'),�
 �	�-+����$)$�	�
��# (OD) �
�&$�,��"
�
���}
,���Q�
 �$����-+�-*�,�"�,"�
��)+�
��
 X �	�-+����$)$�	�
��#��)+��
 Y ���,���   ��
��,��
�����#���
��# (linear regression) ��������-6�
*G-+�-*�,�"�,"�
"�#����

�*,�
�	��$  ��
-+����$)$�	�
��#

1.4 	����)"5��.�
*<(
���( ($ ��
*<(
���(&�. (blood cell count) (��,*��
"�#
Blaxhall �	� Daisley, 1973)

���
�'�,F$�	��$�
��*�	�&$�$�$��	#*��
���
�'�,F$�	��$�
-
�	����*�'����
V
,����>E�# ���� RBC-diluting pipette �
���� �� �# &,+*+� �
�'�,F$�	��$�$#�����,F$�	��$"�*�F��,
,
"��
��
$�#�+�&�

� -��

1. ��� RBC diluting pipette $)$�	��$ (�
�� ����,+V) ���8E#"
$ 0.5 8�����
"
$ 0.5 ���

���'�$�������$�R����)-+��V >�'�����+�#��,�$��*�# �	�*��F$�	��������������$
2. ����������
�$�,$)$ diluting fluid (Yokoyama�s fluid)  
������#8E#"
$ 101 ��#

�	�������
3. ���
��*�
���$�	��������	�*8�$�����#  ��
��
�����*�,+,����'
��*�
���$�	����

������#��#"��#�"�+�&�,��
�
*
�
 2-3 
��




4. ��$"�#��	*�
��������#&� 3-4 ��$ �����"�#��	*�+*


���)+�
���
&,+&$�8)�


6�&�_�,��'�	��$�
�������"�#�����
5. ��$"�#��	*�+�&�	#�
�+�#"�# haemacytometer �
�,
 cover glass ��$��)+��
�'

�����	�*8��,
}�#����%���$"E�
����"�#��	*��$�����
&� 
	�
"�'"�# haemacytometer ����6�
-*�,����$�	�*�6���,+

6. *�# haemacytometer 	#'
���
���� 2-3 
��
 ���������>		��,F$�	��$	#&���
�#

'
���
�&	$� 
�' 6�
*
�������	��# !	���%
� �6�	�#"��� 20X-40X

7.  6�
*
�,F$�	��$�$#�
�
�'&$��
*#�	,�	F��*,��
 5 �+�# × 104 �	� 6�
*
�,F$

�	��$"�*�
�
�'&$��
*#�	,��7+ × 2,000 -��-+�"�# 6�
*
�,F$�	��$�$#�	��,F$�	��$"�*�+� 1
mm3

2. 	��.�
+����!���*�9+����
���(! (Sommer et al., 1991a)

1. 
6���*��+�#�	��6�������#$�*�-*�,��F
 (Freeze-dry) �,�����*��+�#���#$
�	�*  E#


6�,�'$���	���
�$���
�
����$
�*��

2. ���#��*��+�# 0.3 5 1 ���,
3. 
6���*��+�#��+���+# ���,
�6�������
 10-20 ��$ '$����"����

4. ���,��>���
	#&��
���+#�	�*'$�	����#&*������*��+�#
�
��
 ��
��
���

�	�$$)$$)$���	�	���+*
��"E�
,���+�
��*����
5. �6���,"�� 4 >�6��	��V -���#$�*���>���
 (-���#	� 10-15 ,	.)  
�*+� �&,+,
�


���,� ����*��+�#
6. ���, diethyl ether 	#�
��*���� (���,�����+���'��>���
�
�,
��)+�
��*����)

��*+#��*�����'�V
7. ���,
�6���	�� (3 % NaCl) 	#&������������$���������
 ���#���������
 �	�*&"�+*



�6�$��
	+�#���#&� 	��#>�6��
� 2-3 -���#
8. *�$���,���"�#�+*
 ether ���#�,$�
�,
�
��*���� '�
�E����,���
9. �'+#�+*
 ether 10-15 ,	. ���,����#$�*��6�	
 �����
6�&�*�$-+����$)$�	�
��#
10. 
6����	�	��&�*�$-+����$)$�	�
��#$�*��-����# ���

��# ���-���}��

,������ �
�-*�,��*-	���
 600-400 nm �+�
-+� OD �)#�!$ '�
�E�_	
11. -6�
*G��-+�-����

��$��*, ��,�)��



��.��,�$.��
	��+5��.9

 
6�-+�$)$�	�
��#�
�&$�,�-6�
*G�����,�G-����

��$�
A%

1cm =    2500
-����

��$� 1 ���, �
�
����� 100 ,	.  �,
-+�$)$�	�
��#��+���'                             2500
�,���-+�$)$�	�
��#,
-+���+���' 0.2500 ��$#*+� ,
-����

��$��
�
����� ��+���'        1          µg/,	.

�,���*�$-+�$)$�	�
��#&$���+���' 0.11 ��$#*+�,
-����

��$���+���'       1 x 0.11   =   0.44 µg/,	.
                  0.2500

$�#
��
�,�������
����� 25 ,	. ���$��*��+�# 0.05 ���, ���,�G-����

��$���+���'      25 x 0.44

                                               �����P�
��
 ���,�G-����

��$�,
-+���+���'   11.00   µg/ 0.05 ���,

         ����                              0.220   ,�./ �.

�*��
��#

A%
1cm = 2500 �,��8E# ���*�$-+�$)$�	�
��#&$���+���' 2500 �$���� light path 1

�>
���,�� ��$#*+� ���
��
,
-*�,�"�,"�
"�#-����

��$� ��+���' 1% 

������^`
+���

�6����'������

�}��-��

��
 ����������6�	��-	���}�		� &",�
�	�
�6�,�
 �
� �
,
_	&��'�*
����6��-�,������}}� �	��6�	����������"�#-����

��$�

&������	��������^`
+���

1.
6����	��-����

��$��
����$&$��	�_+�
��*������
�'�����	�*&�_+�


���'*
�����������#
2. ���
�,���	�	��������>
�,&W$���&>$� �$���� KOH 6 ���, 	�	���

�6� 4

,�		�	���



3. 
6����	�	�� KOH 1 ,�		�	��� 	�	���
�����
�	 10 ,�		�	��� >E�# ��6����

-*�,�"�,"�
"�# KOH �!$������)+�
� 5-6 ������>F
��
4. 
6���*��+�#�
�_+�
�����������#�	�*�$���+��*��+�#�
"*$�)��,�)+	�	��$�*�

�����
�	�
�_�, KOH �	�*���,�G 25 ,�		�	��� &	+����%�
"*$$�*�&
���� 
�	���$¡� �	�
��F'&*��
�
�,�$ 1 -�


5. 
6���*��+�# ��"�� 4 ,�_+�
���'*
��������+
�$
�*��'������-����

��$�

6��+*
�
�&$�&�*�$-+����$)$�	�
��#




